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Question 
number Answer key  

Question 
number Answer key   

  Y9 Q01  B 
 

Y9 Q25 B   
  Y9 Q02 A 

 
Y9 Q26 A   

  Y9 Q03 D 
 

Y9 Q27 C   
  Y9 Q04 A 

 
Y9 Q28 B   

  Y9 Q05 C 
 

Y9 Q29 B   
  Y9 Q06 C 

 
Y9 Q30 C   

  Y9 Q07 C 
 

Y9 Q31 2,4,3,1   
  Y9 Q08 A 

 
Y9 Q32 B   

  Y9 Q09 D 
 

Y9 Q33 C   
  Y9 Q10 B 

 
Y9 Q34 B   

  Y9 Q11 B 
 

Y9 Q35 D   
  Y9 Q12 B 

 
Y9 Q36 A   

  Y9 Q13 B 
 

Y9 Q37 C   
  Y9 Q14 C 

 
Y9 Q38 C   

  Y9 Q15 B 
 

Y9 Q39 A   
  Y9 Q16 B 

 
Y9 Q40 A   

  Y9 Q17 D 
 

Y9 Q41 D   
  Y9 Q18 D 

 
Y9 Q42 C   

  Y9 Q19 B 
 

Y9 Q43 A   
  Y9 Q20 C 

 
Y9 Q44 C   

  Y9 Q21 B 
 

Y9 Q45 C   

  Y9 Q22 C 
 

Y9 Q46 

Response refers to 
the relative effects 
of daylight saving 
on minority groups 
and the benefit to 
the majority   

  Y9 Q23 B 
 

Y9 Q47 D   
  Y9 Q24 B 

 
Y9 Q48 D   

 

 
*For multiple choice response answer keys: 
The first response bubble = A;   the second response bubble = B;    
the third response bubble = C;  the fourth response bubble = D  

              


